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Ax -5y +20=0

y= §x+4°ﬂ/\1
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o tisto] /DAB = x, ZADB =y, /DEC = ¢
gt o, s F A 22 A2

@® siny =sinz @ cosy = cosz

(@)tanx:tanz @ cosz=BD
® tanx = CE

~&B

(ADB = /DEC °|E&
siny = sinz = AB, cosy = cosz = BD
AC 1

tanx:@, tanz = — = —
CE CE
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4. o2 I#AA x -y o = F5HHE? A
(T, sin55° = 0.82, cos55° = 0.57)

@2 o1 0%
@ 8 ® 10

B ~

=0.82 0|2 & x = 6.56

sin 55° =

cosb5° = = = 0.57 O|B2 y = 4.56

< ol =

wahA, x -y = 6.56 — 4.56 = 2 ©|t}.




o= 1™ 2ol 6km ol F A B, C oA A A HA A=
HIP71E 22 2 =7t 242} 60°, 45° & o, B[] 711 9 0]

AH & Fstofet.

® 9- V2 (km) @ 9-2v2(km) ® 9- V3 (km)
@ 9-2v3 (km) ()9-3V3 (km)

~&B

CH=AH=x2t¥
BH=6-x

AH x
BH 6-x
x= V3(6-x)
x=6vV3- V3x

(1+ V3)x=6V3

63 (1- V3)
(1++3) (1-¥3)

6V3 (1- V3)
-
=-3V3(1- V3)
=9 - 33 (km)

tan 60° =




AD = x 2} 5t A

BD = x, DC = V3x 7
BC=x+V3x=(1+ V3)x = &

6 (cm) B \j15° \D 30/, C
E:3(\/§—1) (cm) - 6em-7C

S:%x6x3(\/§—1):9(\/§—1) (cm?)




